Year 3 Maths Activity Mat

Section 5

Using only £1, 10p and 1p coins, use
the least amount of coins to
make 451p.

Section 6
Chicken Bite Snacks cost 68p.
Popcorn costs 73p.

How much do they cost together?

Section 7

How much longer is pencil A than B?

A
e ——

Section 1 Section 3
Complete the calculations: Use the column written method
to work out these calculations:
28+ 7=
4 8 2
21 +3 =
+ 1 4 4
Section 2
Find + of these numbers:
3 6 9
20 =
+ 2 1 5
44 =
52 =
Section 4

Jack has read 47 pages of his new book. There are 162 more to
read. How many pages are there in the book?

B
Section 8
Order these fractions from smallest to largest:
3 1 z L 8
9 9 9 9 9
smallest largest

W**
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Year 3 Maths Activity Mat: 6
Answers

Complete the calculations:

Section 1 Section 3

Use the column written method
to work out these calculations:

Section 5 Section 6
Using only £1, 10p and 1p coins, use Chicken Bite Snacks cost 68p.

the least amount of coins to
make 451p.

Popcorn costs 73p.

How much do they cost together?

28 +7 = 4
2
21 +3 = 7
¥ 4
6
Section 2
Find + of these numbers:
9
20 = 5
+ 5
44=1 11
4
52=1 13
Section 4

Jack has read 47 pages of his new book. There are 162 more to

read. How many pages are there in the book?

209

£1x4,10p x 5, 1p £1.41
Section 7
How much longer is pencil A than B?
A
=
B
2.6cm
Section 8
Order these fractions from smallest to largest:
3 1 z 3 8
9 9 9 9 9
1 3 A z 8
9 9 9 9 9
smallest largest
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